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Important Instructions :

Question paper is divided in three Sections—(A), (B)
and (C).

(i) WUE (37) & Ot WA T w1 Sfvard ¥

All questions of Section (A) are compulsory.

(iil) @UE (F) T (¥) 9 9 9 it ©w @ v won 2
Solve any one Section from Sections (B) and (©).

(iv) mm%mﬂuﬁ%mwﬁmmmmﬁ
|rfEe |

Write all answers of each section in same place.

(v) aﬁmmﬂmmzﬁuﬁ*#ﬁﬁmﬁt@t;

Maximum word-limit is only for the theoretical questions
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TUY-( 1) / Section-(A)

At wul aur Pl & fg drartE
(Partnership Firms and Company Accounting)

;WS- () F wwt w wfrEr ) 9 wEE 1 Q6 a% Sifeery WA 9
¥ T0F W W 1 3% Prifa &) TR® T 1 I 7 W 91 7 9 H A
¢ 3u1 agfrs v ot £

Instruction : All questions of Section-(A) are compulsory. Question Nos. 1 to 6 are very

short answer type questions carrying 1 mark each. Answer these questions

in / word or / sentence and also include objective type questions.

T 9
Objective type questions :
w1 et
(3 qd wafa () 3rd wyfa
(%) e Hafa () ¥ q FY 4t (1]
Goodwill is :
(a) tangible assets (b) intangible assets
(c) current assets (d) None of these
-2 yHrmram T
(31 fawza @ (® s w
(%) v W (?) ot 4= 713 gy

(1

Revaluation A/c is made :

(a) on dissolution (b) on profit

(c) on admission (d) on dissolution of firm
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(3]
3 AT T ¥

(-37) safeTa wmn (7) arafas @@

() T (7) ¥ & (1]
Share Application A/c is a :

(a) Personal A/c (h) RealA/c

(¢) Nominal A/c (d) None of thesc

TR =aw ¥ WRER! ) =<qAen wen feet et 2 (1]
How many minimum members needed in the partnership business?

Hufeal v el A gt qea W feg T fean sra 2 [1]
On which account the book value of assets and liabilities are written?

FO HT @ FE B ¥? https://www.cgboardonline.com [1]

Who is the owner of a company?

. ¥ W 7 ¥ 10 9% oy I we § 1| el A W 3 ofe Fruifa 13w
F fusan wee-dim 50 wix ¥

[
Instruction : Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. Maximum word-limit of answer is 50 words.

g 7 S A 3 2 100 A 10000 WA S F1 i T 10 W A
mmﬁmm-mawwmﬁmwww
wre € 7 | e dht wafeat S (3]
A to Z Company issued 10000 equity shares of T 100 each at a
premium of ¥ 10 each. The full amount including premium was

received along with the application. Give necessary Journal Entries.

o T=d 3 T 10 9@ 20000 THA 3ty s § Frifia few) w0t af
TeE W @ | e F g § vl whafedt #f 3]
Ranjana Traders issued to the public 20000 equity shares of T 10 each.
All amounts have been received in lump-sum. Pass Journal Entries

in the books of company.
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Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

-1

We-12
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[4]
T FEET A T 72,mo§aﬁﬁqﬁrmaﬂ.gﬁgqanﬁz 100 aTA
qufe W 3t 10% w22 W Fnifia feg | deft wfafeal STl
A company purchased assets worth ¥ 72,000. It issued fully paid-up

equity shares of ¥ 100 each at 10% discount. Give Journal Entries.

(3]

@ & i & fafva fafae (25 @) | [1V5+1%=3]

Write the methods of valuation of goodwill (any mwo).

: WY FWE 11 T 12 7Y 3909 791 ¥ | y@F g W 4 i Fuifa &1 oo
W R il faweq )

carries 4 marks and has internal choice.

wrfa Idfa & i | sr fafaw) [1x4=4]

Write any four causes of creation of goodwill.
EqT / OR

) we sfedeie doft am & ¢ W sid fafaw
Distinguish between Fixed Capital and Fluctuating Capital Account
(any four).

WO QUIUOPILOQ3I Mmm//:sdny

maﬂxmha;qaﬂmfﬁm?ﬁmilmiﬁﬁm;
2 20,000 31 T 16,000 ¥ | ¥H WA ATE T 600 A T 1 Ay 2
o0t R 6% Wmﬁmm%nmaﬂmmsﬁmm%qﬁ
212,000 @1 | Ty F1F IS @ 9T | [4]
Alok and Ashok are equal partners in a firm. Their capitals are
220,000 and ¥ 16,000 respectively. Ashok is entitled to get salary of
¥ 600 per month. Interest on capital is 6% P-a. The profit of the irm

before the above adjustment was € 12,000, Prepare Prof;

. t and
Adjustment Account. Loss
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37eraT / OR

% aurd st fafmafea It 2 1,00,000 } | 39 TR F HTEE F 10%
g 3 % | froct 9 oWl = oftea @y T 12,000 ¥ | TSR e
F AR, TAMfd F1 Hediwa Afyey F A a6l F F7 & YR W TR

w01 ¥ | Tfa e Frafa)

Capital employed by a firm is ¥ 1,00,000. Normal return of business
is expected at 10%. Average profit of last three years is ¥ 12,000.
According to partnership deed, goodwill is valued at two years'

purchase of super-profit. Calculate the value of goodwill.

fader . W W 13 Q 15 7% 9 3909 v ¥ | WQE e W 6 3w Fif@ ¥
AT U W Aiafew famea ¥

Instruction : Question Nos. 13 to 1§ are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

w13 ‘o wE O A eE gReR ¥ 13 R R EH A T WEeR R

= gera 131 faaar, 2016 T 37 fage Frafafaa ®

faza
(31 feawar, 2016)

A ¥ NP ¥

(%) (%)
TR 10,000 | A% 2,000
24 faq 8,000 | 27aR 7,000
E™— (D) @Y 3,600
‘A’ 6,000 e 400
‘"’ 4,000| 10,000 | WA 15,000
28,000 28,000
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(6]
wETErT ;g ¥ i g Prefoan e Y ST ¥
() a1 qed €250 @ R )
(if) EfeTy 3ol ¥ 2 300 1 WEYH fRaT I € |
(i) ¥ 600 fafrarm goin 31
(iv) 1 TR " T 4,000 $eft § € 3,000 WA & Ferw A

STEF I & MU R YAeiF Gl T9%C | (6]
A and B are equal partners in a firm. They admitted C as a new partner.
Their Balance Sheet on 31st December, 2016 is as follows :

Balance Sheet
(as on 31st December, 2016)

Liabilities A';“;)'"t Assets A‘E‘;‘;"‘
Creditors 10,000 [ Cash Balance 2,000
Bills Payable 8,000 | Debtors 7,000
Capital- () Stock 3,600

A 6,000 . | Fumniture 400

B 4,000 10,000 | Plant 15,000

28,000 28,000

The following adjustments are to be made before C's admission—
() Furniture's value ¥ 250.

(i{) The provision of undisclosed ¥ 300 on debtors.

(iif) Investment T 600.

(iv) Newly admitted partner C brought ¥ 4,000 for capital and
T 3,000 for goodwill.

On the basis of above information prepare Revaluation A/c.

-
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3reraT / OR

‘o' AR ‘T’ wE wH H WgeR ¥ W 3:2 ¥ orqum F env-wify @fed €
afiﬁ‘q'aﬁ-;— ar ¥ fore SR 9=/ ‘]’ 2 30,000 dS &% fag a
YA YT & FE B T 16,000 & A T 10,000 76 11 & | STEAEH

it wfafeeal e

A and B are partners sharing profit and loss in the ratio of 3:2. They
admit C for % for share. C paid ¥ 30,000 for capital and ¥ 10,000 out

of his share of goodwill ¥ 16,000. Pass necessary Journal Entries.

uv-14 ‘3’ ol 'a’ e wd ¥ wger ¥ 1 F av-wf 30 ¥F oy A sed T

31 feasar, 2018 # 37 faga1 Frfafaa ¥

https://www.cgboardonline.com

fagar
(31 fgww, 2018)
afr aferat afer
s (%) (%)
TR 45,000 | 3TER 20,000
'3y 20,000 | fafay wufaal 70,000
doft— )
‘ay’ 10,000
'/’ 15,000 | 25,000
90,000 90,000

w fufu =1 o &1 frges gam) dven @ 215,000 wd fafay wwfa @

¥ 60,000 FFA ¥ | AYEA @ T3y )

(6]
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4 and B are partners in a firm, sharing profits and losses in the

ratio of 3:1. Their Balance Sheet on 31st December, 2018 stood as
follows :

Balance Sheet
(as on 31st December, 2018)

” mount
Liabilities AT;';M Assets A (%)
Creditors 45,000 | Debtors 20,000
A's Loan 20,000 | Sundry Assets 70,000
Capital- (%)
A 10,000
B 15,000 25,000
90,000 90,000

They decided to dissolve the firm on that date. Debtors realized

¥ 15,000 and Sundry Assets realized ¥ 60,000. Prepare Realization A/c.

HET / OR

WW%W%WWWﬁUﬁWWI
On the basis of deals of the above question, pass necessary
Journal Entries.

T& FAH 7 T 100 T 2000, 5% Roes it fea 2 10 A I,
T 40 TS T 9 Wy o e ST e ¥ | vy o et € gy
& JR! # e v wfafedt wifm

A company issued 2000, 5% debentures of ¥ 100 each. Amounts are

payable ¥ 10 on application, ¥ 40 on allotment and the balance on

first and final call. All the amounts were duly received. Pass nec essary
Journal Entries in the books of company.

NM_41D
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wy-16
g
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(91
3rgar / OR

HTE 3¢ ferfiide 3 2 10 wf siw % 10000 3w S A i g,
foma! ¥ 4 3T W, tsmmqﬁtawﬂaﬁr:ﬂ'ﬁmﬂhm%ﬂ
1 o S o T e @ g 3 el fafeal F

Fine Art Ltd. issued to the public for subscription of 10000 shares
of T 10 each, payable at T 4 on application, ¥ 3 on allotment and
2 3 on first and final call. All the moncy were duly received. Write

the Journal Entries in the books of company.

. T #9E 16 T 17 gemes 1 €
v 9T et fawed ¥

8 marks. Each question has an internal choice.

T HTR 3 T 100 qA 2000, % FUTA fFrifia fFT1 T 10 A W,
tm%m,zzoqmmmmﬂﬁﬁnmm%ﬁﬁtm

uﬁrmﬂ*r{mmﬂaﬁgmﬁﬁmﬁvﬁuﬁﬁzﬁﬁml

A company issued 2000, 5% debentures of ¥ 100 each, amount
payable as ¥ 10 on application, ¥ 40 on allotment, T 20 on first call

and the balance amount on final call. All the amounts were duly

received.
Pass the necessary Journal Entries in the books of company.

Nerar 7/ OR

x fefrrs 3 € 100 AR 10000 3 Frffir fFg | § W T 30 AT R,
¥ 40 3THEA W, T 10 WUW AT W @@ ¥ 20 Sifew AN WA A1 W
ol aur W ® T wEER B gt § snavas doi wfafed
FfoT

X Ltd. issued 10000 shares of T 100 each, payable as ¥ 30 on
application, 40 on allotment, ¥ 10 on first call and ¥ 20 on final
call. Assume that all the money were duly received. Pass necessary
Journal Entries in the books of company.

: Question Nos. 16 and 17 are numerical questions. Each questio

wﬁﬁmvtaafa?ﬁtﬂﬂatmﬁﬁ

n carries

(8]
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[10]

11

frefafaa .
fager
(31 feaa, 2018)

e wn(z)| vl ()
AW 19,000 | &% & g 2,500
< i 5,000 | TN 15,500
s fify 12,000 | ifem Teferan 25,000
Sar— () R 8,000

= 40,000 ALl 35,000
‘T’ 30,000 - 45,000
| 25000 95,000

1,31,000 1,31.000

;H'Wﬁ'?m, 2019ﬁ‘iﬂﬂi\m%|mﬁmﬂ ;

A

)] tﬁdaﬁ@rﬁrwqwﬂs,mﬂmwg'

(i) mﬂqﬂmmmmm@mmmm%n

(iii) mmmzmﬂaﬂtmmmﬁm%mm%l

(v) 33 S 3 ) € 1,950 T wgr &

Wﬁmﬂhmaﬁ%mw- S

@Il S s |
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A Ba .
1 nld (;fare partners in a firm, sharing profit and loss in the ratio
of 2 3 % Their Balance Sheet on 31 December, 2018 is as follows :
Balance Sheet

(31 December, 2018)

Liabilities A';‘;‘)'“‘ Assets A'E‘;‘)‘“‘
Creditors 19,000 | Cash at Bank 2,500
Bills Payable 5,000 | Debtors 15,500
Reserve Fund 12,000 | Closing Stock 25,000
Capital A/c— @) Motor Vehicle 8,000

A 40,000 Machinery 35,000

B 30,000 Building 45,000

C 25,000 95,000

1,31,000 1,31,000

B retired on 1st Jan., 2019. Following adjustments are to be made :
(/) Firm’s goodwill is valued at Rs. 18,000.

(if) Depreciate machinery at 10% and motor vehicle at 15%.

(iii) Stock value increased by 20% and building by 10%.

(iv) Bad debts reserve increased by ¥ 1,950.
Prepare Revaluation A/c and B’s Capital A/c to execute the above
adjustments.

a7 / OR

X, Y, Z R € fomem amv-fasem srquma 3: 2 1 131 fl=r 20109
X & @ JEaHN TeW w3 ¢ 1 39 e 1 ufin @ Fraior 220,000
e a1 7% fv=y fean T i 3@ wfy ad 3,000 =¥ 3f vsfa
A YA foa Smem a8 e v ad 3 1 sEd B e som

Wo® AR 9 Fi A gfa e g% AR amwme fF s ® R 6% i
aq ¥
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(121 ti’30“:2;l._J['n::tires

thera

; tin
X, Y and Z are partners sharing prof he dctcrrnined amount of

LT |
from the firm on 315 Decer™ 2010‘ 1d be paid by annuity
his share is T 20,000. It is agreed that this shou

E 4 owing day and the
of ¥ 3,000. The first payment t0 be paid on the follow! gt )
b en Preparc he Annuity
subsequent payment on | st January of each year. rep

P 9, per annum.
Suspense A/c for 4 years charging interest @ 6% P

wug-( 1) / Section-(B)
farvrg foreruit a1 fareraaT

(Analysis of Financial Statement)

!

Pdw o i 18 T 19 s Ia0a v ¥ TEE T W1 3 Fauffa b
Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries | mark.
wv-18  wEl fawey gftg U
Choose the correct option :
LSRRG R g
(37) 4:1
(/) 2:1
(7)) 1:1
(%) 05:1
Ideal level of current ratio is :
(@) 4:1
(b) 2:1
() 1:1
(dy 05:1
avi-19 aﬂﬁ%*ﬁqmmmt?
What is t '
is the Standard Ratio for current ratig)
NM-43B
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v : W 9w
201.3!22 wmmmtlmww4aﬁmﬁuﬁatl
TAF WA W iaftw frweg 2
Instruction i
nsiruction Question Nos. 20 to 22 are short answer type questions. Each question

carries 4 marks. Each question has an internal choice.

WA-20  UH3 YarE faaw & wew #1 fadw ifag (F¢ 90 | [4]
Discuss the importance of cash flow statement (any four).
Jrerar 7/ OR
A% yaTE faao @ @ fafae (Fi¢ ) |
Write the limitations of cash flow statement (any Sfour).
uyT-21 ﬁﬂmﬂﬁﬁmﬁmmmﬁmaﬁﬁq: (4]
r— 31-3-2018 31-3-2017
() (%)
-z faaT % SgER 99 54,750 27,000
=i il 11,250 13,950
ke s 2 10,200 17,850
qove - 18,000
T:faa.aaq 14,000 12,000
s Zaad 32,000 44,000
Calculate Cash Flows from operating activities with the help of the
following information :
. 31-3-2018 31-3-2017
Particulars @® ®
Balance in Statement of Profit and Loss 54,750 27,000
Trade Receivables 11,250 13,950
Outstanding Expenses 10,200 17,850
Patents - 18,000
Prepaid Expenses 14,000 12,000
Trade Payables 32,000 44,000
P.T.O.
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[14]
arerar / OR _
et el & e & T e 1 O P
ad 2020 | 2019
feyaror (%) (%)

"Iﬁﬁaﬂl 2’000 2,500
13,000 15,000

ATeR ,

a¥ 2020 ¥ XA TV g T 25,000 )
From the following information, calculate Cash Flow from

operating activities :

Year 2020 | Year 2019
Particulars ® (4]
Debtors 15,000 12,000
Outstanding Expenses 3,000 1,000
Prepaid Expenses 2,000 2,500
Creditors 13,000 15,000
Profit during the year 2020 is ¥ 25,000
T9T-22 mmaa@mﬁmﬁm :
99 Fo H‘«Tﬁl 21,00,000, STTMRI 19 2 60,000, N3] a1fere 2 20,000, -
=] Hufwat ¥ 50,000
From the following information, calcylate Current Ray o
Total Assets ¥ 1,00,000, Shareholder’s F '
L. ) und ¥ 60,000, N0n~current
Liabilities ¥ 20,000, Non-current Assets ¥ 50,000
3T¥aT / OR
Frefafen g @ e sqom = e Fifrg .
aR] faea 250,000, ] Wt 780,000, gy ¢ %
THA= 25,000, 3T T 30,000 +000,
Calculate Liquid Ratio from the follqwin. -
L OWing "NMormatiqy, .
Current Liabilities ¥ 50,000, Current Agseys 0.000 <.
T 25,000, Prepaid Expenses 2 5,000, Debtom ¥ ;000, Stock
NM-43B
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(15]

Frfer : W I 23 e 3Ty b ) v T e 3 PwiRa ¥
Instruction : Question No. 23 is long answer type question. It carrics 6 marks.
wy-23  fasig favdhei & st ) quwmg (R o) | [1~6-6]
Discuss the objectives of Financial Analysis (any six).
Hvar 7 OR
Afaw favawo au waaq favewo § i @it (6]

Distinguish between Horizontal Analysis and Vertical Analysis.

wWus-( |) / Section-(C)
WYL AT
(Computer Accounting)
frdyr : mmﬁ1s@19mﬁgﬁﬂumt|mmm1aﬁﬂ?ﬁﬁﬁﬂti

Instruction : Question Nos. 18 and 19 are very short answer type questions. Each
question carries | mark.

wyT-18  wE fasew g : [
Choose the correct option :
eyt &1 wan fear s ¥
(37 ¥FH () revare A
(%) =EEE A (3) IR o
Computer is used at :
(a) bank () hospital
(c) business (d) All of the above

wyA-19 Sl &l wiaren fhd wea ¥ 2 (1]
Which is called the brain of computer?

feder : UV A 20 | 22 7 oY ITGT weq ¥ | G@AF W W 4 ot AiRe €

Instruction : Question Nos. 20 to 22 are short answer type questions. Each question
carries 4 marks.

WeT-20  TREAW T WRAW § 3idt wye #ifaw (W) | [1N4-4]

Distinguish between Hardware and Software (any four).

NM-43B
P.T.O.
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3T/ OR
FIT q Feagaret ¥ A W FHAC (FE G0 |
Differentiate between Computer and Calculator (any fowr).
W¥T-21  FEiHa d@iFA Yoet F A U (F1E /70 | [1x4=4]
Discuss the disadvantages of Computerized Accounting System (any four).
Hqqr/ OR
AEiH ¥ FgR ) vifrw sy ) (4]
Write the role of computer in accounting.
WA-22  IREE F Savawa ey (i /) | [1x4=4]
Write the necessity of Database (any four).
HaaqT/ OR
STTSH oY Woneht % wr fafag (@ @) |

Write the functions of Database Management System (any four).

Frdor t O I 23 T I T ¥ 1T A W6 3w Fruif ¥

Instruction : Question No. 23 is long answer type question. It carries 6 marks

Write the characteristics of Electronic Spreadsheet (any six)
HUqT/ OR

ﬁ-ﬂaﬁmﬁmﬁ%a@mmwt(ﬁm)?

What are the main elements of Payroll Calculation (any six)?

https://www.cgboardonline.com
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